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S HERREO R SEE{E R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NEFEE(BFEENENARER)
AR 2.277 0.002 - 0.472 0.011 =
LA M 1.512 0.033-0.730 0.103 =
/L% (HCI) 4.545 0.003 - 0.289 0.183 2
SFAEE (HF) 0.306 0.003 - 0.135 0.053 =
—ZMEWT (SO2) 15.147 0.329 - 6.910 2.540 H
—& (L% (CO) 7.578 0.007 - 0.358 0.110 =
FALY) (NOx)
PLIZ&AEE (NOy) 30.303 0.975 - 15.142 2.320 =
EFE
(b) | FrEEH - HISE (HREHIRENLARERE)
AR 0.756 0.007 - 0.030 0.011 =
SN 0.756 0.058 - 0.220 0.104 =
/L& (HCI) 0.756 0.098 - 0.235 0.182 2
LS (HF) 0.072 0.032 - 0.070 0.053 =
—&/EHi (SO2) 3.789 2.042 - 3.277 2.539 =
—&{Ef% (CO) 3.789 0.029 - 0.212 0.111 =
FHAY (NOx)
DL=%AEE (NO2) 15.147 1.183 - 5.079 2.312 2
SR
28 HERREO RS S ERE
(kg/hr) (kg/hr) (/)
) BHEN (HZB{LERFTEE)
7K 0.003789 <0.0003 =
R pEHY A E 0.003789 <0.0013 =
R A 0.0378 <0.0057 &
T Ry g ) 7.575 x 10 <6.447 x 10 =
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(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NEFEE(BFEENENARER)
Feckir ™ 2277 0.005 - 0.209 0.019 =
LA i 1.512 0.017 - 0.955 0.099 &
/L&, (HCI) 4.545 0.067 - 0.211 0.153 2
SFAEE (HF) 0.306 0.003 - 0.074 0.039 =
—ZMEWT (SO2) 15.147 0.298 - 8.756 2.581 H
—& (L% (CO) 7.578 0.000 - 0.085 0.041 =
FALY) (NOx)
PLIZ&AEE (NOy) 30.303 0.727 - 12.054 2.145 =
EFE
(b) | FrEEH - HISE (HREHIRENLARERE)
AR 0.756 0.007 - 0.030 0.018 =
SN 0.756 0.059 - 0.232 0.096 =
/L% (HCI) 0.756 0.136 - 0.177 0.155 2
LS (HF) 0.072 0.033 - 0.046 0.040 =
—E (L (SO2) 3.789 2.463 - 2.791 2.570 2
—&{Ef% (CO) 3.789 0.025 - 0.053 0.042 =
FHAY (NOx)
DI=&AEE, (NOy) 15.147 1.100 - 3.400 2.191 2
SHE
28 HERRE® RS S ERE
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0052 &
g I Ry ki) 7.575 x 10 <5.802 x 10 =
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28 HERREO R EHEME R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NEFEE(BFEENENARER)
AR 2.277 0.002 - 0.028 0.003 =
LA M 1.512 0.012 - 0.666 0.082 =
/L& (HCI) 4545 0.032-0.158 0.119 2
SAEE (HF) 0.306 0.005 - 0.082 0.035 =
—ZMEWT (SO2) 15.147 0.040 - 6.155 2.629 H
—%& Ll (CO) 7.578 0.003 - 0.090 0.041 =
FALY) (NOx)
PLIZ&AEE (NOy) 30.303 0.989 - 9.912 2.203 =
EFE
(b) | FrEEH - HISE (HREHIRENLARERE)
AR 0.756 0.002 - 0.005 0.003 =
SN 0.756 0.023-0.178 0.082 =
/L& (HCI) 0.756 0.093 - 0.139 0.119 2
SAEE (HF) 0.072 0.024 - 0.045 0.035 =
—&/EHi (SO2) 3.789 1.751 - 2.979 2.628 =
—&{Ef% (CO) 3.789 0.024 - 0.058 0.041 =
FEIEY (NOx)
DL=%AEE (NO2) 15.147 1.452 - 3.219 2.202 2
SR
28 HERREO BERaE R R
(kg/hr) (kg/hr) (/)
) BHEN (HZB{LERFTEE)
7K 0.003789 <0.0003 =
R pEHY A E 0.003789 <0.0013 =
R A 0.0378 <0.0059 &
T Ry g ) 7.575 x 10 <6.632 x 10 =
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S HERREO R SEE{E R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NEFEE(BFEENENARER)
Feckir ™ 2277 0.005 - 0.082 0.011 =
LA M 1512 0.019 - 0.860 0.091 =
/L% (HCI) 4.545 0.069 - 0.248 0.185 2
SFAEE (HF) 0.306 0.017 - 0.090 0.051 =
— /BT (SO2) 15.147 0.020 - 3.797 2.065 =2
—& (L% (CO) 7.578 0.019 - 0.211 0.102 =
FALY) (NOx)
PLIZ&AEE (NOy) 30.303 1.017 - 14.786 2.518 =
EFE
(b) | FrEEH - HISE (HREHIRENLARERE)
AR 0.756 0.008 - 0.014 0.011 =
SN 0.756 0.044 - 0.225 0.090 =
/L% (HCI) 0.756 0.168 - 0.204 0.185 2
LS (HF) 0.072 0.046 - 0.058 0.051 =
—&/EHi (SO2) 3.789 1.648 - 2.618 2.068 =
—&{Ef% (CO) 3.789 0.068 - 0.158 0.102 =
FHAY (NOx)
DI=&AEE, (NOy) 15.147 1.601 - 4.219 2.536 =
SR
28 HERREO RS S ERE
(kg/hr) (kg/hr) (/)
) BHEN (HZX{LERFTEE)
7K 0.003789 <0.0003 =
R pEHY A E 0.003789 <0.0011 =
R A 0.0378 <0.0051 &
T Ry g ) 7.575 x 10 <5.739x 10 =
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